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Dad bought three packets
of cornflakes at 70p each.

What was his change from
£3?
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Winston offered two silver
coins to pay for a 17p toy.

Investigate how much
change he got.
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A set of paints cost £3.
Parveen saves 20p a week.

How many weeks must
she save for in order to
buy the paints?
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It costs 75p for a child to
swim.

How much does it cost for
two children?
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Anna has a 50p coin and 
three 20p coins.
She pays 90p for a ride on 
the Big Dipper.

How much does she have
left?
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Which 5 coins make 74p?

What other amounts can
you make with five
different coins?
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